
ה  חוק הפילוג  יתָּ  ' גכִּ

 

 

 כפל באמצעות חוק הפילוג

 כתבו תרגיל נוסף ששווה לתרגיל הכתוב )באמצעות חוק הפילוג( ופתרו: 

 

1. 35 x 8 = 70 x 4 = 280_________ 

 

2. 45 x 4 = ___________________ 

 

3. 15 x 6 = ____________________ 

 

4. 25 x 6 = ____________________ 

 

5. 45 x 8 = ____________________ 

 

6. 20 x 8 = ____________________ 

 

7. 30 x 6 = ____________________ 

 

8. 15 x 4 = ____________________ 

 

9. 35 x 6 = ____________________ 

 

10. 45 x 6 = ____________________ 

 

11. 50 x 8 = ____________________ 
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ה  חוק הפילוג  יתָּ  ' גכִּ

 

 

 

 תשובות:

 כפל באמצעות חוק הפילוג

 כתבו תרגיל נוסף ששווה לתרגיל הכתוב )באמצעות חוק הפילוג( ופתרו: 

 

1. 35 x 8 = 70 x 4 = 280_________ 

 

2. 45 x 4 = 90 x 2 = 180  

 

3. 15 x 6 = 30 x 3 = 90 

 

4. 25 x 6 = 50 x 3 = 150 

 

5. 45 x 8 = 90 x 4 = 360 

 

6. 20 x 8 = 40 x 4 = 160 

 

7. 30 x 6 = 60 x 3 = 180 

 

8. 15 x 4 = 30 x 2 = 60  

 

9. 35 x 6 = 70 x 3 = 210 

 

10. 45 x 6 = 90 x 3 = 270 

 

11. 50 x 8 = 100 x 4 = 400 
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